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Algebra 11 - Quiz 1 - 30 Marks One Hour Date:
Lot Vo= R, oy = (1 1,0), va = (0,1,1), wy = (1,0, 1) and wy = (0,0, 1) Prove:ol
on T:V =V guch that ker T' =< vy, V2 >

g T Apteed

disprove: There exists o linoar {ranslorma

and Im T =< wy, Wy > (5 marks)

i an eigen value
.“.—'1,,4.')\»1,/‘(7’L

L™

Prove or disprove: 1f A is an cigen value of an n X7 matrix A, then A*
of A% (5 marks)
be an n X n matrix

Lob My .- v yMa DE 7 positive veal numbers. Let A = (aij)1gi5gn
where agj = mi/m;. Find the rank of A. (5 marks)
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CLet W={xE€ R3 : Ax = Bx}. Tind & basis
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— oo. Let V be a vector space over

111

for W. (5 marks)
F". Show that V cannol

5
be written as a union of finitely many proper subspaces. Does the same statement hold
true if | F] is finite. = ’ (10 marks)
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